N = 0l & AF & F Al A

20108 =0llat LetslH = UEX R ~ S HEXR L

S FOIMERD
o =)t 2E 2ol ¥ NV (ME=X/2E)
Sl EEAM E4 (B9 &)
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
Z=0IM S X Dt 32,718,752 32,671,473 47,279
= 21,261,327
s 580,770
= 3,951,384
Al 6,925,271
20 2 22l L NA(MS=X/28) 1,158,524 1,785,360 626,836
= 580,100
Al 578,424
HENE T4 780,100 1,580,100 800,000
= 580,100
Al 200,000
SEN 2R 780,000 1,580,000 800,000
= 580,000
Al 200,000
401 AEHI LS 780,000 1,580,000 800,000
= 580,000
Al 200,000
01 Al&| 776,346 1,574,312 A797,966
0X22Y =4 576,346,0002 576,346
= 576,346
OBWRZA JIEHI(E) 218 200,000,0008 200,000
03 Al& S OHY| 3,654 5,688 A2,034
0X22Y =4 580,000, 00024 *0. 63% 3,654
= 3,654
SY2TX XL 100 100 0
= 100
307 2120/ H 100 100 0
= 100
02 QIIAMBE 100 100 0
OSUREIN N2 A 100,000 100
= 100
PECH 2S5 X 378,424 205,260 73,164
SECH 23 X 378,424 205,260 173,164
101 Q1248 924 960 ~36
04 JARZRISES 924 960 A36
os=g 2 22X I 924,000%! 924
201 Yer2g| 8,000 9,000 A1,000
03 A2 Y| 8,000 9,000 A1,000
OHZEY FEHA X 8,000, 0002 8,000
301 YErEAa 293,000 54,800 238,200
01 At B X453 260,000 28,000 232,000
OEY 2IIRIN WKL 40,000,0009! 40,000




SN FEOIMEX D
o =)t 2E 2ol U NV (MI=X/2E)
Sl PECH BHE X (e @
_ - MG =
SAN-ZH-SA(FA) - NFAY - BES oA Ol Ak O it
OBFSBA FoI+Z XY 210,000,0008 210,000
OBFSBN MYUIRZ X 10,000,0008 10,000
10 SAAHIS A 33,000 26,800 6,200
OBIZHMY E0FE A BAT AHIRA
1,000,0002 1,000
OFEX = EHAX MHIBA  30,000,0008 30,000
ORNKEBR 2OHE)EH? #A HAR AyIR
& 1,000,0002 1,000
OBZUMAL 2T - BHE AR
1,000,0002 1,000
307 2I2+0IH 76,500 75,500 1,000
S EES 76,500 75,500 1,000
OWE &0l 23| ARAIXIE 22Ul X
11,000,000 11,000
OUBHSRARES AFAINS 224 X
11,000,000 11,000
OUSHSRA0ILLIE AFAIXIE 28l X
2 11,000,00024 11,000
OUSPRAERE ABAIKE 2FH X2
11,000,000 11,000
ODYMEH2E ABAXE 2Pl XA
8,500, 0002 8,500
OAEAl 6.258 MRBIs 2| NS
8,000, 0002 8,000
OMEA BHIFRTXE 2 X2
3,000, 0002 3,000
OAEA THEZ0IE X 10,000,000%! 10,000
0B=3 SUALNY NRAsXE N
3,000, 0002 3,000
NEESPIERE I EES L ESTEED 6,349, 120 6,084,240 264,880
= 2,204,828
= 580,770
= 1,051,179
Al 2,512,343
olzie 0% 92 83,957 76,913 12,044
VEERCE 40,000 25,000 15,000
301 YBrBAS 40,000 25,000 15,000
01 Al BZ X453 40,000 25,000 15,000
OMBIZXAIE & 022 AlS 92 40,000
o - A - HYLOIA| 40,000,00024 40,000
MBS XDl 2 X9 48,957 51,913 A2,956
201 Ygreg| 18,600 17,000 1,600
01 AtR2elt] 15,000 15,000 0
CHETIES=1 11,000,000 11,000




SN OB D
BB ASIZXIIE TS (ASISX/HAHSTR)

@2l M2 0l ?I2 (ctel: &
_ _ _ HET
A -3 -H2A(SH) - HEAMY - BES O AF K Ofl At ot HwsZ
o3 4,000,0002! 4,000
02 S=2gH 3,600 2,000 1,600
O3 XA 3,600,000& 3,600
202 04l 26,357 30,913 A4,556
01 ZLHOIHI 26,357 30,913 A4,556
OZAEF 0 26,357,000 26,357
203 HRF&H| 4,000 4,000 0
03 AlZEXAREY 4,000 4,000 0
(OES=E=1CTF PL R =E 2,000,0002! 2,000
OHFMNASK ARFA 2,000,0002! 2,000
MBS |4 245,168 640,592 A395,424
= 20,235
= 19,718
Al 205,215
SN 2% 74,180 13,080 61,100
201 et 11,600 9,600 2,000
01 ArR22lH 11,600 9,600 2,000
ORI =] 10,600,0002! 10,600
oI+ 1,000,000 1,000
207 A ROHELH 30,000 0 30,000
01 AR 30,000 0 30,000
OHM2I NSAEXNAHE =27 L THRAZAL
= 20,000,000 20,000
OHM2I] XIGA2=EXHE =8 NE S
10,000,0002! 10,000
301 LetE A3 2,580 3,480 A900
10 BArAHIZ &2 2,580 3,480 A900
OAMsIEXEAM s & 312 HAX AU
& 1,500,0002! 1,500
OAMaI =X ALE2AM SSuw= HILA &HI2
& 480,000& 480
OAMz=XE2AM & SXAS ¥ LA A4
2y 600,0002! 600
307 QI2HOIA 30,000 0 30,000
02 UAHASZ 30,000 0 30,000
OMBIA HAAHEH 28 XI& 30,000,000 30,000
XS AKX 101,424 113,041 A11,617
101 244 10,974 10,641 333
04 JIZAR22UEE4 10,974 10,641 333
O SAHE 29 10,974
oolggl 33,0008 * 19 x233 7,689

_3_




SN OB D
BB ASIZXIIE T (ASISX/HAHSAR)

SRl Al =X s4 (9 ®2
S A .S (FH) - NBAY - BHAS Al OH &EIE =3}
- o= T ° T = = = = 04”:"% =<
oFXt4 33,0003 1 48 1,584
oAXtg 33,000& 15 495
o=0Hga S 4HEE = 9,273,000 *13% 1,206
201 et H| 14,000 11,000 3,000
01 AtR2t2lH| 7,000 3,500 3,500
O gt=Z2H| 5,000,000 5,000
o2+ 2,000,000 2,000
02 22234l 7,000 2,500 4,500
O=322aYHA 4,500,000 4,500
O Xt & Bl 2,500,000 2,500
301 et A3 9,050 20,000 A 10,950
01 MIIE2EEE =63 5,000 20,000 A 15,000
OS2 HU(RIAE ol) Letrt XA
5,000,000 5,000
10 At HI B4 2 4,050 0 4,050
O&= XN SAH A=A EIHA AU 24
1,400,000& 1,400
O% XHASALUE EHILA AHIE 4
1,750,000& 1,750
ONEBANEE SHME AS HIIX U2
900,000 900
307 QI2t01A 67,000 71,000 A 4,000
02 QB AEXR 24,000 27,500 A 3,500
OSH=s NS AE2S s
14,000,000& 14,000
O0ls== XANERA L ANASAL EFAI A
HI Xl & 10,000, 000& 10,000
03 AMISIEHMEZZ 6,000 6,000 0
OAIEAl It SAHRE 23 XI& 6,000,000 6,000
04 CIZFHAE X 37,000 37,500 A500
OXASAML 2 stot30ia 7,000,000 7,000
OFUST U MRS 23l #A X2
30,000,000& 30,000
402 It X =01 A 400 400 0
02 QIZtCHEAFHI 400 400 0
OXNSSAAOILIXISE AMAE X2
400,000& 400
ANESAH 2435 X 21,200 22,000 A800
& 10,600
Al 10,600
301 LEtEAZ 1,200 2,000 A800
& 600
Al 600




SN OB D
BB ASIZXIIE T (ASISX/HAHSAR)
SOl APSIZ IR B4 CLEL

SN CR(EH) - NRAY - BES el

[
2
2
R
12
o
£l
0l%
IS

r

AL
O Xt

12

HIZ

S At

0

= 1,200 2,000 A800
b ot 1,200,000& 1,200

600
600

0

>

= H

307 20,000 20,000 0
10,000

10,000

r
:

=)

N
S
Pl

= H

03 AtRIEHMEXS 20,000 20,000 0
OXNZSAX &dat K& 20,000, 000& 20,000

10,000
10,000

=

AHESA 2CUIOIE XIE A 38,364 30,471 7,893
15,235
7,618
15,511

= HnH

101 1A H] 38,364 30,471 7,893
15,235
7,618
15,511

= H W

04 JIZHZ2XSE= 38,364 30,471 7,893
OXZSAt ZCIUIOIE XI& At 38,364,000 38,364
15,235

7,618
15,511

= H W

ANESMI 222 K& 10,000 12,000 A2,000
5,000
1,500
3,500

= H W

307 QI2t0ld 10,000 12,000 22,000
5,000
1,500
3,500

= Hn W

02 2ItAAE X 10,000 12,000 2,000
ONASAA 288 X& 10,000,000& 10,000
5,000

1,500
3,500

=MW

=S 6,014,995 5,366,735 648,260
2,184,593

580,770
1,031,461
2,218,171

= Hl A JY

o= 1,147,070 1,966,350 819,280

802,949
344,121

= W

W
=
ne
t
H
0z
oy

1,147,070 1,966,350 819,280
802,949

W




SN
X XH .
S Tt

el

IR E SN
NEES I INEE L ESTEED
SRSV

S A -

e . o9l(3) - HRAY - BaS

o

Al OH

— T

=1
(R
121

Al

344,121

01 Atal2
1,147,070,000&

= W

1,147,070
1,147,070

802,949
344,121

1,966,350

819,280

= W

30,584

24,467
6,117

35,108

A4 ,524

30,584

24,467
6,117

35,108

N4 ,524

30,584,000&

= W

30,584

30,584

24,467
6,117

35,108

AN4,524

= W

6,364

5,091
1,273

8,266

21,902

=

6,364

5,091
1,273

8,266

A 1,902

6,364,000&

= W

6,364
6,364

5,091
1,273

8,266

21,902

= W

123,243

86,270
36,973

126,430

AN3,187

= W

123,243

86,270
36,973

126,430

A3,187

123,243,000

= W

123,243

123,243

86,270
36,973

126,430

N3,187

= W

2,400

1,200
1,200

2,400

= W

2,400

1,200
1,200

2,400

O SEaHl X2

2,400,000

= W

2,400
2,400

1,200
1,200

2,400




SN

X ZH
(=]

el

01 M B X It
DA XIDIE EA (A= T/ FHAHEXR)
Q=X SA

el

s=

[
2

20
B
2

Dol S 25 8,800 8,800 0
= 4,400
Al 4,400
AP AD 8,800 8,800 0
= 4,400
Al 4,400
01 AFSIE &= 4513 8,800 8,800 0
ONHAINL JISES B 4,000,0008! 4,000
= 2,000
Al 2,000
OEZOAFN S4H X2 3,000,000 3,000
= 1,500
Al 1,500
OEZHETN SRS FHSH N
1,800,000% 1,800
= 900
Al 900
WEEESIEb 3,510 3,846 £336
= 2,808
Al 702
ST 3,510 3,846 £336
= 2,808
Al 702
01 AFSIE &= 4513 3,510 3,846 £336
O MELSEIID X (34Y)
3,510,0002 3,510
= 2,808
Al 702
OHo! HEEHO L HSe = 15,320 15,320 0
= 7,372
Al 7,948
ST 15,320 15,320 0
= 7,372
Al 7,948
01 ABIE =453 15,320 15,320 0
OZZH0j MSHHO X (23Y)
14,360,000 14,360
= 7,180
Al 7,180
OHES 2122 7Y 960,000 960
= 192
Al 768
23 24 X 7,177 7,177 0
= 5,742
Al 1,435
U EAD 7,177 7,177 0
= 5,742




SN OB D
BB ASIZXIIE T8 (ASISX/HAHSTR)

ool HOHOI= X EX (B9 &2

SN CR(EH) - NRAY - BES ]

22
J2
=2
Rl
12
==
S
Ol
0

Al 1,435

H=+ol= 7,177 7,77 0
235 Fd XN 7,177,000& 7,177

5,742
1,435

01 Al3IEE
ol

= W

STHY HHEHEXH 22,542 304,770 N282,228
9,021
13,521

=

307 2120l & 22,542 304,770 N282,228

9,021
13,521

=z H

02 2ItAAE X 22,542 0 22,542
o= e 4z X2 22,542,000& 22,542

9,021
13,521

=z H

SSTMY =HEE W2+ At 10,000 28,000 18,000
3,000
7,000

=

402 QI2tHE01M 10,000 28,000 A 18,000

3,000
7,000

=

02 SI2HCHEH AL HI 10,000 28,000 A 18,000
OHel = HEZIHEAE 10,000,000 10,000

3,000

7,000

=z H

ZOH I =S XL Xtel At 27,796 30,280 N2,484
13,898
6,949
6,949

= N W

101 Q1] 27,796 30,280 N2,484
13,898
6,949
6,949

= Hn W

tSE=+ 27,796 30,280 N2,484
| LXt2IAS (182) 27,796,000 27,796

13,898
6,949
6,949

04 JI2tHZ=Z22
=

= HnH

ZOH =X EEH =R O0IX& A 94,048 66,690 27,358
47,024
23,512
23,512

= HnH

101 1A 94,048 66,690 27,358
47,024
23,512
23,512

= H W




Rk
L ANBIZ TN EA (ASI=XI/HAHETH)
Sl

X ZH
(=]

IR E SN

Foper=xsd

_ _ _ Muo
SA-E . S(E) - MEAY - BES Abou i SImE=ET
04 JIZHMIZE2XNSE = 94,048 66,690 27,358
OFOfel #HHE =20 XI2(80Y) 94,048,000 94,048
=2 47,024
S 23,512
Al 23,512
S8s Z0H =<0/ BIXIXA 73,530 51,300 22,230
= 22,059
Al 51,471
101 el 4] 73,530 51,300 22,230
= 22,059
Al 51,471
04 JIZHMIZ2XEE =+ 73,530 51,300 22,230
OSHE ZO0HQ =<0l BIXI X2 (6F)
73,530,000& 73,530
= 22,059
Al 51,471
SO0HE ZOHY F=EHIHEZALS 49,400 49,400 0
= 24,700
< 12,350
Al 12,350
402 2Ib+E01H 49,400 49,400 0
= 24,700
S 12,350
Al 12,350
02 CIZHCHE ARSI 49,400 49,400 0
Os0E Z0He! =SIHZAS 49,400,000 49,400
= 24,700
S 12,350
Al 12,350
ZOHAEHAAIE L ZHIXA 21,940 1,320 20,620
< 900
Al 21,040
201 LEH2 | 140 0 140
02 =23l 140 0 140
OZRRIYHA 40,0002 140
301 LetEa=z 1,800 1,320 480
S 900
Al 900
01 A2 H+6= 1,800 1,320 480
OB2AOIZL SAFEIE 23
1,800,000& 1,800
= 900
Al 900
405 XtobE SHI 20,000 0 20,000
01 ML ESF=H 20,000 0 20,000




2A:
DASIEXID|8E R (AR /FHSLHSXH)
o

X ZH
(=T

IR E SN

Foper=xsd

SN CR(EH) - NRAY - BES

22
J2

20
B
2

20,000

= HnH

535,051
374,536

53,505
107,010

672,460

A137,409

307 2120l &

= H W

535,051
374,536

53,505
107,010

672,460

A137,409

02 UAHBHE X
ol
ol

Atelgs XI&(83%) 535,051,000&

= H W

535,051

535,051
374,536

53,505
107,010

535,051

=

17,000

8,500
8,500

17,000

=

17,000

8,500
8,500

17,000

5,000,000&

12,000,000&

=z H

=

17,000
5,000

2,500
2,500

12,000

6,000
6,000

17,000

= HHD

1,128,818
2,100
444,639
97,350
584,729

830,024

298,794

= M A

245,218
33,119
43,800

168,299

150,024

95,194

80,926,000&

64,252,000

70,040,000&

= H AL

= H A

245,218

80,926

15,313

6,000
59,613
64,252
17,806

6,800
39,646
70,040

150,024

95,194




SN OB D
BB ASIZXIIE T8 (ASISX/HAHSTR)

ool HOHOI= X EX EEREED
_ _ _ Muo
SA BB H(BH) - MBAY - B2 Ofl & o il i~ o HRs2
< 22,000
Al 48,040
OOl BOIAIM KAME 2
30,000,000 30,000
= 9,000
Al 21,000
307 212H0I 664,000 630,000 34,000
2 346,180
= 51,100
Al 266,720
05 DI2tSIErD 664,000 630,000 34,000
OBOA=NZ 2% 664,000, 0002 664,000
2 346,180
= 51,100
Al 266,720
401 AISHIL L] 72,600 0 72,600
= 65,340
Al 7,260
01 Al 72,600 0 72,600
OBOHAST T Alg 5= 72,600,0002 72,600
& 65,340
Al 7,260
402 QIHXH2O0|H 7,000 50,000 43,000
=2 2,100
= 2,450
Al 2,450
01 DI2REEE 7,000 50,000 43,000
OBASKZ FE JISHEAY
7,000,0002 7,000
=2 2,100
= 2,450
Al 2,450
405 X+aHE S| 140,000 0 140,000
01 KHAYLSEF S| 140,000 0 140,000
OFOOI=STIZ HEHA 2 140,000,0002 140,000
B OHQI M BAI S 2 Y X2 669,808 570,048 99,760
= 500,531
Al 169,277
307 212H0I 669,808 570,048 99,760
= 500,531
Al 169,277
02 QIHHARE 669,808 570,048 99,760
OFMOAMEAL 2 662,508, 0002 662,508
= 496,881
Al 165,627
OFONQUMEAIL SFH OF2ag
7,300,00024 7,300

_11_




SA:
DA XIDIE EA (A= T/ FHAHEXR)
ol

X ZH
(=]

IR E SN

Foper=xsd

SH M HA(FA) - HRAE -

s=

e

[
2

=1
B
121

=

3,650
3,650

= H W

384,712
192,356
96,178
96,178

384,712

= HN W

384,712
192,356
96,178
96,178

384,712

OB & ESHYE JIsEL(AF)

384,712,000&

=z HH

384,712

384,712
192,356
96,178
96,178

384,712

2,000

2,000

2,000

2,000

2,000,000&

2,000
2,000

2,000

= HN W

170,544
119,381
25,582
25,581

170,544

307 GI12told

=M

170,544
119,381
25,582
25,581

170,544

02 CIZtA A

170,544,000&

= HnH

170,544

170,544
119,381
25,582
25,581

170,544

=z H

349,830

139,932
209,898

349,830

307 2120l A

= M

349,830

139,932
209,898

349,830

02 DIHAMBE
@]

=01 =& X 349,830,000

= M

349,830

349,830

139,932
209,898

349,830

H ML

226,885

136, 131
10,535

226,885

—_




DO ENT R

DARRIE XD =S (MBI SX/HYAHSKR)

SRS RIEE PNR=FA

B . M. CHe (5 NEAY . B2 Al OH HEE Hl =2+
Al 80,219
307 QI2tol™ 226,885 0 226,885
= 136, 131
& 10,535
Al 80,219
02 Slz+t& & 226,885 0 226,885
OZFoHel =29 226,885,000 226,885
= 136, 131
& 10,535
Al 80,219
ST JI=2Z 688,673 0 688,673
= 482,071
Al 206,602
301 LEtEAZ 688,673 0 688,673
= 482,071
Al 206,602
01 AMtEIE2ZE 688,673 0 688,673
OE=ES ZOHAZ(1,019¢)
688,673,000 688,673
= 482,071
Al 206,602
H2E0el o0l=s< = A2 12,000 0 12,000
& 6,000
Al 6,000
301 LEE A 12,000 0 12,000
& 6,000
Al 6,000
01 A2 & 12,000 0 12,000
OF=EAFSy MRS XA (200F)
12,000, 000& 12,000
& 6,000
Al 6,000
ZOoHeI XA 178,380 178,380 0
201 gu2d 2,100 2,100 0
03 #HARY 2,100 2,100 0
OFoe! =l UNEPNI= 31PN}
2,100,000 2,100
301 et 4 18,280 18,280 0
01 A2 & 5,000 2,000 3,000
OA 2R Zolol & BT DY
2,000,000 2,000
©=0tel =294l X& 3,000,000& 3,000
10 S ArAHI 13,280 16,280 A 3,000
(©OF=gu Rl HAX AHI 24
800,000 800

_13_




A FRIMEX A
ES

B ARSI =08 RS (MBS /FHAHESTR)

chel: HoHeI=XSA (2 2
SA . MM .G (B NS A . A2 A} OH MEE Hl D = 2
_I_—l'o—|'|_‘r|(9—|j:”)' '“_I_ I't:!';o—\ 01lt_—| 0:”/\|,o|.| |J-|—ocl

— T

00,000& 800

1,400,000& 1,400
oFeIIsdIItal FA4L A2y
1,050,000& 1,050
Od=s0t M=z X Adl2a
1,050,000& 1,050
OZOHXSIHE & 2hAMWE FAX AHIE4
600,000& 600
O=THM =& 2Ea FAL AHEL
300,000& 300
OFMAZZ X Z=tMl A X Abl22t
600,000& 600
O SsZEA(THR) AR HHIEY
600,000& 600
OXMZEOHRIel & AL AL AH 24
1,200,000& 1,200
OHM19a] 2 MEM OtctECH] A EIHA
aAdl24 600,000 600
OZ0tS MEsts EotA A2
1,200,000& 1,200
OAIZTEO0 Q! SXE0I2e AL B4 &BI2
& 2,000,000& 2,000
OZOM=XAIE SALL /34 AL U2
1,080,000& 1,080
307 21201 A 158,000 158,000 0
02 QI2tFAEX 96,000 96,000 0
OZHMOA 24l K&
1,500,000& 20«12 36,000
OZOQ JIEXALEH 2l
15,000,000& 42 2| 60,000
03 AtRIEMEXS 39,000 39,000 0
OXHMZEOC AAEAIX G 22Hl XA
18,000,000& 18,000
OANZZOHel AtEAIXIE 28l K&
6,000, 000& 6,000
O=0t 83l MEAIXNSE 228l X&
6,000,000& 6,000
OMHMEM=X3 MEAIXR 2SH K&
3,000,000& 3,000
OZMUFR23 MEAMXNSF 2EH K&
6,000, 000& 6,000
04 QIZFHAIE X 23,000 23,000 0
OFOM=X S&tHa K& 20,000, 000& 20,000
OZoiots=X S&Ua XS 3,000,000& 3,000
A2ISIAIE SHHE ZoHLXel HEALY 7,570 0 7,570

_14_




SN OB D
BB ASIZXIIE T8 (ASISX/HAHSTR)

ool HOHOI= X EX (B9 &2

SN CR(EH) - NRAY - BES ]

22
J2
=2
Rl
12
==
S
Ol
0

el

3,785
3,785

=

301 et ez 7,570 0 7,570

3,785
3,785

=

01 A2 H+6l= 7,570 0 7,570
OABIEXAIE AAHE ZoHel Xl H=(6Y
) 7,570,000& 7,570

3,785
3,785

=

DD ZMESH(ASI SR /I ZMESE) 23,696,088 23,333,576 362,512
19,056,499
2,320,105
2,319,484

= H W

SR ZMESE 20,533,414 20,298, 140 235,274
16,960, 347
, 736,934
1,836, 133

= N W
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02 S=2494l 6,200 5,300 900
OZZ2=LHA 3,200,000& 3,200
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= 111,800
Al 111,800
01 AISIBEESH= 223,600 327,600 104,000
OAMIEXAIE ESAX =Y X
223,600,000 223,600
< 111,800
Al 111,800
A= XAIE MEX X3 18,356 26,366 A8,010
= 6,167
Al 12,189
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OFHOIAIA FHALR o1AHHl A&
12,000,000 12,000
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